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(1)
80ii=,=-= .80
100

(2) op  =pyz =p$ = .03

flalufl~l~~n~augsqa  = 30, = 3(.03)  = .09

(1) f = p = 180/625  = .288  = 28.8%

(2) gp  =jT c/T= ,016

~~IaJnalmantoU~~~~ = 30, = 3(.016) = ,048

( n )  E(X)=  p aat o;= d/n

(ll)  E(S’)  = a’

P = ZX/N  = (2 + 4 + 6)/3 = 12/3  = 4

a2 = E(X - p)’  = x(X  - p)*  f(x)

= X(X  - p)Z  ( ; ) = + IE (X - LO2

= f [ (2 - 4)’ + (4 - 4)’ + (6 - 4)’ )



= S/3

np : p = 4, (s’  = 8/3
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2 0
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4 4
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6 0

sz 0 2 4 3agl

f(8) 3 4 2
9 9 9 1.0

i

= 2 (1) + 3 (;)  + .__  + 6 (;)

c 4.0

E(!?)  = c?  f(X)

= 4(;)+9(;)+16(;)+25@+36($)
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(4 E(s') =

156/9 = 52/3

52- - (4)2
3

4
3
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i= n
__ =
30) 5

Es2  f(r2)

0(;)+2(;)+4(;)
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9 5

8
:,
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n) PC.08 < p < .32) = p ( .O8 - .20 < z < .32 - .20 )

rtYL-zJ = p,(<;<z<$)  Up

a&i P(--3.0 < z < 3.0) = .998

.I2 .12-=__= .12di%Y
UP xc-iai J-ii7

3.0

\in =

n =

zz

p t . 1 4  < p < .26) =

p - 3  <  z < 3 ) :

.06

n =

3v’.16__
.I2

9(.16)/(.12)’

100

p ( .I4  - .2O < z < .26 - .20 )

aI,

.06\‘n

7  = 3

(3)2  (. 16)/(.06)2  = 400

f?)  1; p(.17  < p < .23) = ,998

p ( .I7  - .20 < z < .23 - .20)

UP
up  ) = .998

Pi-~<Z<L!jf) =  , 9 9 8

LLAE P(-3<z< +3) = ,998
a/z

@lsu¶4  22 = .03v’n___  = 3
CiP \/.16

n zz 3’(.16)/(.03)2  = 1600
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8.15 n”W%4n%&  o = 0.9, n = 36, ?i = 9.6

n)  a-= u/v;1  = 0.9/v’%-= 0.9/6  = 0.15
x

91) % + u-= 9.6 T 0.15 = 9.45; 9.75
X

“i 02 = o/& = 3.6/&i = 3.6/9 = 0.4

3)  p(-2.0 < 2 < 2.0) = ,955

a. c( x - puuno  P(-2.0  < ~ < 2.0) = ,955
a -X

p!.x--  2ax  </I <xi 20%) = ,955

liUi%J  ~(24.5  - 2(0.4)  < p < 24.5 + 2(0.4)) = ,955

~(23.7 < g < 25.3) = ,955

200

La
uufla

x-p
PC-1 < -U- < 1)

X
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= P(X- ax  < fi < x + Dx) = ,683

= p(210  - 2 < p < 210 + 2) = ,683

= ~(208  < p < 212) = .683

II = 25, 5 = 68, ux  = 4,25/d%  = 0.85

n) pc-i<z<+i) = ,683

P(-1 <
x - p
-<<I)  = .683

u-
X

P(X-  u;i  < /I <x  + ax) = .683

aLYlwi1  x, a;

= P(68 - 0.85 < p < 68 + 0.85) = ,683

~(67.15  < /I  < 68.85) = .683

91)  p(-2.0 < 2 < 2.0) = .955

x-,
p(-2.0 < __ < 2.0) = ,955

a’x

p(x-2o~</l<x+20~  = ,955

~(68  - 2(  85) < /.I  < 68 + 2(.85)) = ,955

~(66.3  < JI  < 69.7) = .955
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P(- ,675 < 1.  < .675) = .50
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3) ~(-2.326  < z < 2.326) = .98

L.3
pdW-10  lhLk%k  9 8 %  “UOJ  p 6%

x’ rt 2t326.0~

j? + 1.645 (oi  ) = 25 rt 1.645 (S979)
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= 25 -r ,983s

= 24.02, 25.98

a =  .02

= 42dK
7 239

= 0.6M

= 0.6(.8944)

= .5366

2.01 = zc, 2 = 2.326~&ilZ  LW51: Lbkd3:8116U o &fJ Sbb6i n > 30

I
&J&4 98% ThJLhklGJJ  p $0

15.8 _' (2.326)(.5366)

* 15.8 2 1.25

14.55; 17.05
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Q =  .I0  hhil~lfl9l’l~lJ  ZLWSI::  n >  30,Z.os  =  1 . 6 4 5

I I

26 2 (1.645)(.2)

= 2 6  2 .329

zz 25.671: 26.329
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:.a
t19, 05 = k 1.729; Pduno 1 - a = .90

q) n = 12, t = 2 2.201

ALi
tl1,0*5  = 2 2.201; UMlO 1 - a  = .95

vl) n  = 7, t = 2 3.707

k P
t.5.005 = f 3.707; pawlo 1 - a = .99

8.29 % n =  8 %p?sliisi!

12.1, 11.9, 12.4, 12.3, 11.9, 12.1, 12.4, 12.1

w&a 9 0 %  d-dsa~eol”od=u~s  &I

xx = (12.1 + 11.9 + . . . + 12.1) = 97.2

x = 97.2/S  = 12.15

xx2 = 1181 .26 ,  S2  =
zx2)  - (zx)‘/n

“ - 1

c 1181.26, - (97.2?/8

7

= .27/7  = 0.04
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= x&t 7. 05 s-
X

= 12.15 f (1.895)(.07)

= 12.15 2 .I3

= 12.02; 12.28
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Z.ozs = " 1.96

zz .72 +- (1.96)(.041)

= .72 f .08

= .64 ; .80

&.& ndia~a;aernaiuQoGu  95% +I ~~siaPa~~a"a79aar~~~~~~~l~  64% bs 80%

?I) 64% llO9 1200 5lfJ = .64(1200) = 768

80% ll9.l  1200 710 = .80(1200) = 960
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II = 3Y, CT = .70,  % = 2.45, P(-3 < z < 3) = ,997

% 2 .70,'\39 = .70/7 = .I0

I'(-3</<3) = P( - 3 < -- x-p < 3) = ,997
ai

P(X - 3cJi < /I < x + 30i) = ,997

P(2.45 - 3i.10) < p < % + 3(.10)) = ,997

= PC2.45 - .3 < /r < 2.45 + .3) = ,997

P(2.15  < /I < 2.75) = ,997

Z’.I,  2 (1.96)'
ll=7 = 600.25

4e 4i =
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n = 81, N = 2,200 2 = 3.2, o = 0.9

= .I0 (.98) = .I0

-dasa$ioak  95% ~89 ji = x -cz 021. ay

1 3.2 k (1.96) (.lO)

= 3.2 i 0.196

= 3.004 ; 3.396

I

e.v;n e e
z = =--= -rrt2 a o/vn “9  . I

fl) e = (94.4 -- 96) = -1.6 Lb63: (97.6 - 96) = 1.6

e = k 1.6, aF = .8
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P(-2.0 < z < 2.0) = ,955

U) e = (94 - 96) = -2.0, !&A"  (98 - 96) = 2.0

e = + 2:0, az = 0.8

&I%4 2 = 2.0/0.8  = 2.5R 2

P(Z< -2.5) = .0062  = P(Z> 2.5)

&h a = .0062  + .0062  = .0124

LLRZ (1 - a) = 5sJnawa&Y~ = I - 0.0124 = .9876

y 98.76%

fl) e = (95.328 - 96) = -.672  bbRZ e = 96.672 - 96.00 = ,672

eI, L = I/u;  = .672/.8  = 0.84

P(Z< - 0.84) = 2.005 = P(Z> .84)

a/2 = .2005, a = .2005  f .2005  = .4010
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L = I(,, = i 2.326 ) CT = 12.4, e: 3
" 1

1, = (L ,, ay/e* = l(2.326) (17.4)lL:(3)'

= 92.43 = Y3 MtiX
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91)  e = .05,  z 025  = I .96.  ii = .35

2 n(1  - 5)n= ,<Z (1.96)’ (.35) (.65)=
e* (.05)>

214

= 349.58

= 350 d-au
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n = 144, x = 128.4, S = 0.6, SF = 2 =
vmi .05

1 - a = .955, cz = ,045, a/2 = .0225

P(Z < -2.0) = P(Z > 2.0) = .0225
L.d
UwlO z.0225 = r 2.0
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, I

&h  9 5 . 5 %  ~a.3rQoakuos  p Z8

% e z.o&-+  = 128.4 f (2.0) C.05)

zr 128.4 +z 0.1

= 128.3, 128.5
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- -
= (X,  - X2) *z 025.c-J

(XI  X*)
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= (24 - 22) e 1.96(1.414) = 2 f 2.77 = -0.77 !~a: 4.77'
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= 20 k (1.96)(2)

= 20 I 3.92

= 16.08, 23.92

= v5.76  = 2.4

95% -dasa+oxhuos  till - -  pz) =

= (5X  5 5 )  -t (1.96)(2.4)
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vul~~aiaoeil~ n, = 16 "2 = 16

haa8er (UlFi) x, = 55 x, = 85

WJliJULhJ32U C-J; 2= 1600 02 = 2000
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= (1325 1252) k (1.96) (19.83)

= 73 It- 38.87

= 34.13, 111.x7
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8.56
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= d.00024  + .00030 = m= .0233

= (.437  - .4325)-+  1.96 (.0233)

, 1, = .0045  f .0457

-.0412  0 .0502  = - .0412,  .0502

CR,-  x2) = (p, ~ p2)  =
123
__ - ; ) = (0.6 - .36) = .24
205

- 112)  = (PI PI) 2 z WC (r7,,',  p2, )

2 24 k(2.576) .0760

= .24  +_ .I96

= ,044. ,436
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=Jkm = 3.18

I

&ik $a.sQoak 95% 9109 tiI  - ~2) !O

- -
= (Xl - X2) '- t "25.3" (S -(x, %)

= (60 - 55) + 1.96 (3.18)

= 5 + 6.23

= - 1.23, 11.23
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fl~bl~-bPb U.rd."LilU 2.9 3.1 2.7 3.3 3.0 15.0

CLLUU %=i.%@ 3.6 2.8 3.6 3.2 2.8 16.0

n, = 5, XX, == 15, 2, = 3.0, .X:x; = 45.20, X(X - x,)' = .20

nz = 5, X.X*  =: 16, %, = 3.2, XX; = 51.84, X(X - 22)' = .64

(X2  - X1)  f t “I?.8  S(%,  _  n,)

= (3.2 -- 3.0) f (2.306)(.205)

= 0.20 2: .47
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2 = 0; = a=, a2 = s; = (n,  - 1,s: + (Ill - 1)s:
01 n, + n* - 2

%40)  + (7) (36)zz
16 -

= 38.25
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P’b”nsiuu

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16
- -

T nw$kxp tX&MXd

84 84

55 57

85 90

98 97

80 74

55 53

80 75

64 63

91 90

85 82

90 88

94 98

75 77

86 90

9 1 85

92 86
--__

;i=  16 =1
16

Zd,  = 16, 1 3 4  = X(d,  - 2)’

d,

0

- 2

- 5

1

6

2

5

1

1

3

2

- 4

- 2

- 4

6

6

d ,  - ii)’

1

I

16

0

25

1

16

0

0

4

I

9

1

9

25

25

s2 = Z(d, -~ ii2 134
d -=-= 8.933

n - 1 I5
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